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Problem 1. Find projy (Z), where Z =
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linear transformation T': R — R* given by T |y

and V is the image of the
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Problem 2. Consider the linear transformation T : R® — R3 satisfying
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(a) Find the matrix! A associated with T'.
(b) Show that T' is orthogonal.
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lpecall that if B = {71, 7, U3} is a basis of B? and B is the associated B-matrix of T, then
A=SBS™?, where § = [ﬁl T 1-;3].
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Problem 4. Determine whether the matrix
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is diagonalizable; in the affirmative case, give an invertible matrix S such
that S~1AS = B is diagonal.
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